Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300005 Date: 11/01/2016
Subject Name: Basic Physics (Group-2)
Time: 1 Hour and 30 Minutes Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. Question Text and Option
AN = ---mome-- dyne
1. A 10°dyne B. 10°dyne
C. 10™ dyne D. 10°dyne
Round off the number 25.654 up to three significant numbers.
2. A 2565 B. 256
C. 257 D. 25.654
Which physical quantity is a fundamental physical quantity?
3. A Velocity B. Mass
C. Momentum D.  Speed
What will be the least count of micro meter screw having ¥2 mm pitch and 100
4 divisions on circular scale?
" A 5x107 meter B. 5x10” meter
C. 5x10™ meter D.  5x10°® meter
1A= --oee--
5. A 10° meter B. 10 meter
C. 107 meter D. 10" meter
Candela is the unit of ---------- physical quantity.
6. A. Luminous intensity B.  Temperature
C. Current D. Velocity gradient
1 nano meter = -------
7. A 10° meter B. 107 meter
C. 10® meter D. 10" meter
The zero of Vernier scale is slightly right side of the zero of main scale, then error will
be ------ .
8. A. negative error B. negative & positive both
C.  zeroerror D. positive error
In g=47°l/T?, the percentage error in I=1% & in T=2% then percentage error in g= ----
9. A 1% B. 2%
C. % D. 5%
Precision depends on -------
10. A. temperature B. least count of instrument
C. place of instrument D. dimension of instrument
Electric field lines --------
11. A. areimaginary B. areevery where
C. exist at nearby place of charge D. all the three are correct
1kwh= ------
12. A, 3.6x10°J B. 3.6x10°J
C. 36x10°J D. 3.6x10*J
13 The Sl unit of electric field is -------
" A NIC? B. NIC
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

217.

28.

29.

30.

31.

C. NC/m D. NA/C?
Work done to bring unit positive charge to a distinct point from infinite distance is

A. electric field B. electric energy

C. electrostatic potential D. electric current

Work (w) done on charge by external force is positive then that point will be at-------
A. lower electrostatic potential B.  zero electrostatic potential
C. equal electrostatic potential D. higher electrostatic potential
As the length of wire increases, then the resistivity of the wire ----- .

A. increases B.  decreases

C. remains constant D.  becomes zero.

Unit of resistivity is ----------

A.  ohm.meter B. ohm

C. mho D.  mho.meter

The value of Joule’s constant is ----------

A. 4.02 Joule/cal B. 4.0 Joule/cal

C. 4.12 Joule/cal D. 4.2 Joule/cal

The S. I. unit of power is ---------

A. volt B. watt

C. electron volt D. joule

If the n resistances are connected in series than equivalent resistance --------
A.  becomes maximum B.  becomes minimum

C. becomes zero D. remains constant
Kirchhof’s first law is the form of conservation of ----------

A.  linear momentum B. electric charge

C. electrostatic potential D. energy

If the distance between two charge becomes double than electrostatic force between
them will------

A. be one fourth. B.  be four times more.
C.  be one half. D.  be two times more
The direction of conventional current is from ------

A. negative to positive B.  positive to negative

C. positive and negative repetitively D.  none of these
Electric field inside the conductor --------------

A. increases B.  decreases

C.  becomes zero D. remains constant
The reciprocal of resistivity is known as ------------

A. current B.  specific resistivity
C. conductance D. none of these three
The no. of electrons in 1 Coulomb electric charge is ----------------
A.  6.24x10"electrons B.  6.24x10"electrons
C. 6.24x10%electrons D.  6.24x10"electrons
1 mili ampere = ------- ampere

A, 10° B. 10°

C. 10° D. 107

The effect experienced to nearby area of electric charge is called---------
A. electric field B.  electric current

C. electrostatic potential D. internal resistance
The unit of magnetic flux = --------

A. coulomb B. ampere

C. tesla D. weber

The magnetic field intensity in the region where magnetic field lines are very nearer to
each other ----------

A.  remains constant B.  becomes zero

C.  will be higher D.  will be lower

Which of the following material is diamagnetic?
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32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45,

46.

47.

48.

A. sodium chloride B. ferrous oxide

C. manganese D. nickel

The susceptibility of diamagnetic substance ym= -----------

A =0 B. >0

C. <O D. none of these three

The temperature at which magnetism of ferromagnetic material diminishes and it is
converted in to paramagnetic material is called -------------- :

A. critical temperature B.  curie temperature

C.  minimum temperature D.  maximum temperature

The electromagnetic induction was invented by the scientist --------------

A. Farad B. Henry

C.  Oersted D. Weber

If the rate of change of current is unit then induced emf is equal to ----------
A.  flux related to the coil B.  no. of turns of coil

C.  width of the coil D. self inductance of colil

The coil having 10”m? area is put in the magnetic field of 2x10™° Wb/m?then flux
related to coil is ----------- Wh.

A.  2x10° B. 2x10°

C. 2x10% D. 20

The emf produced in a coil resist the cause of it. This i -------------------- law.
A. Farad’s first law B. Biosavart’s law

C. Farad’s second law D. Lenz’slaw

The substance which experiences a large attraction when put in the magnetic field is
known as----------

A. diamagnetic substance B.  ferromagnetic substance

C.  paramagnetic substance D. ferrimagnetic substance

The change in magnetic field in one coil is from 16x10™° Wb to 8x10° Wb in 0.02s,
then induced emf in it will be ---------

A. 0.3V B. 0.2V

C. 04v D. 0.8V

In a.c. current circuit the effective current is known as -------------

A. I a.c. B. | d.c.

C. In D. lms

At 0 K temperature semiconductor -------- :

A. behaves like an insulator B.  behaves like a conductor

C. behaves like a superconductor D.  will remain as semiconductor
Which one is the trivalent impurity from the followings?

A.  Phosphorus B. Gallium

C. Antimony D. Arsenic

In P-type semiconductors majority carriers are -----------

A. holes B. electrons

C. holes and electrons both D. none of these

For the semiconductor having an impurity of arsenic ----------

A.  ne=ny B. ne<<ny

C. ne>ny D. n=ny=ne

As the temperature increases the conductivity of semiconductors increases---------
A. linearly B. exponentially

C. inreciprocal manner D. none of these

The resistivity of some substances becomes zero when it is cooled below its critical
temperature. This type of substances are known as ----------

A. semiconductors B.  conductors

C. insulators D.  superconductors

In forward bias condition, the resistance of P-N junction diode will be ---------
A. zero B. less

C. high D. infinite

The rectifier which has been constructed with only single diode is known as ----------



49,

50.

51.

52.

53.

54,

55.

56.

S7.

58.

59.

60.

61.

62.

63.

64.

65.

A. half-wave rectifier B. full-wave rectifier

C.  bridge rectifier D. none of these

The width of the depletion layer in reverse bias condition -------- .

A. remainsas it is B.  changes frequently
C.  decreases D. increases

The base of the N-P-N transistor is composed by --------

A.  n-type semiconductor B. n-type & p-type both
C.  p-type semiconductor D. none of these

In the transistor circuit the collector has been kept between input and output then this
type of transistor circuit is known as ---------

A. common collector circuit B.  common base circuit

C. common emmiter circuit D. common diode circuit

For the CE-circuit transconductance of transistor gy = -----------

A r/p B. P

C. Pr D. B

The size of the nanoparticle= --------- nm

A. 100 to 1000 B. 0.1tol0

C. 1to100 D. 0.01ltol

Who have given the correct definition of nanotechnology first of all?

A. Richard P. feynman B.  Ericdrexler

C.  Buckminster fuller D. Richard E. smalley

The SA/V ratio for nanoparticles is -------- :

A. remains constant B. verylow

C. zero D. very high

In reference to the nano technology which of the following is irrelevant?

A. medical field- drug delivery B.  environmental field- purification of

water

C. construction field-to increase the D.  military field-to manufacture light
efficiency of computer weight and tough tank

Which of the following technique is used to manufacture the nanoparticle?

A. sol-gel technique B. electro deposition technique

C.  ball-mill method D. (A), (B) &(C) all the three

Sound waves are -------

A. longitudinal waves B.  transverse waves

C. standing waves D. circular waves

The velocity of sound waves is highest in ------

A. liquid B. solid

C. gas D. vacuum

What will be the wavelength of sound wave having frequency 440Hz and velocity
330m/s?

A.  0.50 meter B.  0.075 meter

C. 0.050 meter D. 0.75 meter

As the periodic time is higher , frequency will be

A.  more B.  constant

C. less D. none of these

As the refractive index of the medium higher the velocity of light will be ------- .
A. less B. high

C. remains constant D. becomes zero

What is velocity of light in vaccum ?

A, 3x10°m/s B. 3x10°m/s

C. 3x10"mis D.  3x10™m/s

Which of the following is known as Snell’s law?

A.  p=sin(i)+sin(r)=constant B.  ussin(r)/sin(i)=constant
C.  p=sin(i) X sin(r)=constant D.  p=sin(i)/sin(r)=constant
The superposition of light waves is known as ---------

A. diffraction B. interference
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66.

67.

68.

69.

70.

C. polarization D. refraction
Which phenomenon of light indicates that light waves are transverse waves?

A. interference B.  Photoelectric effect

C. polarization D. reflection

In stimulated emission photon collides with the atoms which are in -------
A. ground state B.  excited state

C. both (A) and (B) D. none of these

In He-Ne gas laser the proportion of helium and neon is ------

A. 101 B. 1:10

C. 11 D. 15

In optical fibre light travels by-----

A. the interference of light B.  the diffraction of light

C. the dispersion of light D. the total internal reflection

In optical fibre if ny and n; are the refractive indices of the core and cladding
respectively. The light propagation through this optical fibre follows the condition----
A n>n B. n=n

C. m<n D. none of these
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apesAcl
ygl Axy @scu
INz------ SL&et
A. 107518t B. 107 Sl8al
C. 107 si&st D. 10° Sl&al
25.654 AvUlal 2L Adsuis YUl AGs g 5.
A. 25.65 B. 25.6
C. 25.7 D. 25.654
56 alllAsAR yaeld elldsAQ B2
A.  Aal B. &cHlol
C. QolHlal D. »%sU

1/72mm QA Aol AJOUsR A UR 100 ([Aewdl uRladl HgsiHlergell
Ay 1Y Al 3edll sA?

A. 5x107% Hle B. 5x10° ez
Cc. 5x10* 2R D. 5 x10° ez
1Az ---mmmm-

A 10%® Hle? B. 10™ Hle?

c. 10" Hle? D. 10° Hlez
$d Al------ allQsARA AsH B.

A idlldlaa B. clUHlel

c. [Qygdyas D. A9l YUdsl

1 aell{le: = -------

A 10° HleR B. 10° Hlez
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10.

1.

12.

13.

14.

15.

16.

17.

18.

c. 10% e D. 10" e
clola1R Wl 9ot Yyl Wcloll Youell U UG ol slaudl wicll FRa

—————— 58 ®

A R AR B. ol Aol bRl U

Cc. 9o R D. det 3R

g=4Tl/T2 Yol 1 1l YR 1% wal T Ul R 2% &la Al g Ui R decll 622
A 1% B. 2%

C. 9% D. 5%

A2 dl ------ GUR AURd B,

A, dlUHlet B. Aldetoll e ML .
C. Ulololl &Ulet UR D. Aldetoll URHIQ UR
Qg &t Juudl-------

A slculels ®. B. OlR &R AU O,

C. [AgdeuRell dysui gl & D, 2AQ [@Ascq w B.

A.  3.6x10° J B. 3.6x10° J
C. 36x10°J D. 3.6x10* J
Qg d@atall A, . Yl --------------- .

A. N/C? B. N/C

C. NC/m’ D. NA/C?

AsH ol (AgdoiRal Boict el AssA (GlgA e wldal HER sl Us

A [Qgdas B. [(AgdGt
c. dlaRaAlAniet D. [Qgdycue
AlssA OlgA ‘¥l ([Agdetr UR ALl WElel dd ad sl(w) et dlat Al

A ol dlsRAQua 8. B. 9o dlaRAlua B.
C. wul dlRA(AHua B. D. QG dlxRAlQua B.
B cdlRell colles Hi aulR A dl diRell UAAUSAL --------
A, dll. B. .

C. AN RWY. D. 9ol Ul

WAAUS Aloll ASH ------- 0.

A lledleR B. dleH

c. 1wl D. w8lle?

W Aol AN Sl (FHA--------
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

A.  4.02 YA/3A3L B. 4.0 ¥c/3c3l

C. 4.12 YA/3cA3l D. 4.2 %A/3c3l

UlclRell AU, WU, ASH ------- 8.

A de B. dle

C. YaAsgld dled D. %A

Bl n B2l AR ARAHL A3l Slat Al Aol AHAeL AUAJAY ------
A, HEUH Olay B. Ayt o

C. 9ol UL D. AUAN RW.

BAlgall UBA A2AH, -------- ARelvle] a3U B,

A. {2 QatHlet B. [(Agdeur

c. dlRalAuist D. Gl

ol A UL (AGAGUR clo] BcdR G scUHl WA Al AHell A cldld
(Qgdon --------

A. AU GlLLe] wll. B. AURQ L.

C. uSY UL D. GHE L

3@t [@Qgcyeugell ol ---------- aa B.

A bR Yol dR$ B. tolel HOl dAR$

C. aRsdl uatefl Rl ua D. 2l Hl As ul o1&l

B0l Yl Ut AR
aAlesoll vigetl auotHl Qg A ------

A di, B. ue.

C. 9o AL D. AUN RW.

WARAUS Aol cRUARN ------ 58 0.

A @Qgdyaie B. QR ucusdl
C. al&sdl D. 2L Hel As uwl o8l
1 sclel (QgdeiRUl A FAsRotoll vl --------- sl

A.  6.24x10" AU B. 6.24x10” A2\
C. 6.24x10™" gAsA D. 6.24x10" A2
1 Al ARAR = ------- A(V2AR

A. 10° B. 107

c. 10° D. 107°

Qg deuRell aysell ([ArcRul Uojealdl UURA ------- 58 8.
A [Qgdas (Qgctycue

c. dlaRaAlAnist UARSs waAY
Jousla seAsall @ oll WSH ------- .
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30.

31.

32.

33.

34.

35.

36.

37.

38.

A, sAA B. UGV

C. <ol D. AuR

% (AcARHL Yusla@otoll uudllell oAUl auR sla Ao YusladA--------
A UAA 8. B. 9ol UL

C. duR &l D. g da

o(lActmiell sl UeLd slANA(Rs B?

A ABAH SARLES B. % AsAES

c. Hiello D. [sa

staNRRs uelddoll RAUNAR oy = -----------

A. tm =0 B. m>0

C. m<O D. 2l 1l As el o8l

B dAlUHLal 3ANBRS Ueldle] Yolseal ottt WM Wal dAof VAMMERS UeldHl
3ULAR WA A AlUHLet ---------- 58 .

A, sl dlunist B. 33 cllUdlet

C. oyalcd clumlel D. H&uH cllUMlel

Qg Yausla 2wl ol Wut------ dstly s3l.

A 58U B. &l

C. RS D. AuR

ol ([Agdycleall 3512 As AsH slal Al UMl Bur Ud YR [Asucs

A, uouel A& AsuAcu B. ojAuUell a2l ofl dvaul F2d 8.
SASU B2 8lal.

C. el esstes B &l D. OjU0lell WUHYWL B2 &l

102412 e AAsnuRladdl cal 2x107 Aok /Hl? Becl Yasla Axul

Yscil doll AA AsAA sASY -------- AsR sl
A. 2x10° B. 2x10°
C. 2x10% D. 20

SISl Gaurt U YRArAAS Hnl Aal Geusl 5l 5106l (AAU 53 B,
AR ------ ol (A 58 B.

A 33l UBAl [Ran B. ollldadall [Aaun

C. %300l ollosl D. Aol [[Aan

% UElal Jotslal Aol Yscll Voo ARl Aofd A UELEal -------- 58
8.

A, SlINXRSs ueld B. %ANRs ueld

C. WRNMRs ueld D. ¥3NRs ueldd
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39.

40.

41.

42.

43,

44.

45.

46.

47.

438.

49.

A5 SIS WA AsUAA Yausla AUl 0.02 AsoSHUL 16x107 AR Ul 8x107
AGR B2l ¥$1R Al sl Al AHL Geual ad WRdcllsucts o -------

alat.

A. 0.3V B. 0.2V

C. 0.4V D. 0.8V

WAL Qgdyals yrnadl UuaHl USRS Yalsal -------- 58 B.
A1, B. I,

c. |, D. I

0 K cdluMlal Adalgs ---------

A, udles d3d ad. B. dles d3¥ ad.

c. uldass a3 ad. D. wHass ¥ 3.

ol AotiHiell 58 wgY(&a 2laAAAoe WY& 53 B,

A SR$Y B. dlAan

C. UodlHell D. wAlls

p- UsRoll wdalesHl AR 3R22 Ay ------- alaL.

A. 8l B. aAs2led

C. &l Ao AU ol D. el As el o8l

WA soll AY( uRleldl AdcuesHl

A.  n,=n, B. n,c<<n,

C. n2>>n, D. n=n,=n,

BU dAlUMlel Al st ad Atdalesell algsdl -------- i,

A Yw 3la B. Udldisla 3la

C. <Al YHIRHL D. 2l As uwl «18l.
sUA dturtetell o(lA ys uelelloll WARAUSAL Yol UL 12U B, llcll
uetdlal ------ 58 B.

A, udalss B. dl&s

C. AUdlsS D. uldcues

glRad ollaud RAQAHL P-N 52l SlAsell WY ------- alal.
A AR B. el

C. duR D. oid

As o slAsUl wadl 2885122 URUUA --------- 58 ®

A, A-dR0L 82l5AR B. Yul- 9l R82lslaAR
c. ol 2sdlsaR D. el As ual o8l

ol ottt RAQAHL 31AQ2Uot Rl tSLES --------

A.

FHo{l AH 8.

B.

clRalR WeA.
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50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

C. de. D. di.
N-P-N 2leBeHl 8B ------- oAl WAL &l

A.  n-YslRell Adclssell B. n Aol p olal YslRell Adallssell
C. p-UsRell wtlalssall D. el As uel o8l

2eB2R URUUML 5A52R Selye Aal wlB2Y2 vial A slHet Al Al
eleBeR uRUY---------- SENURY

A, SlHel sAs2R uRud B. SlHel Qe uRud

C. SlHat AHle? uRua D. SlHel stlls uRua
CE-2Ue2? URud{l 2lert§ssedt g, = -------

A. r/B B. B/r

C. Br D. PB?/r,

ololl5Qle] $€ = -------- nm.

A. 100 to 1000 B. 0.1to10

C. 1to 100 D. 0.01to1

AollesollcAloll cautvaul WyaH S1Q 2udl?

A 3las Ul gl B. AURSs IR

c. osHlouer gerR D. s ¢. vl

Aol SA/V OJRNTR------- ala.

A AUAA B. yu o{lAl

c. A D. o GA

Aol sellAatl VealHl ollActiniell 53 wiod &?
A, ASlsc &xt- goL slelladl B. ualarel - welle ylaswel
C. ollustd &aA- sluyerell D. @23l &at- sctsl wal 1oy S5

Al dulRdl olotladl
o{lActtHill 585 Ut AcllsRL Glollalell cURRL B7?
A, AA-BA Utdld B. asal sluloflatet utad
c. Ad-Hld utuld D. (A), (B) ¥al (C) A0 utu(d
telll dRoN -------- R}
A. Al dRal B. daldld dal
C. RAd a0 D. ONOUSIR 230
telloll QDL ------ Hi Well ay 8 v.
A, yaél B. ol
CcC. Ay D. 2AQaHl

el dR00s(l 2g(A 440Hz Bl A9 330m/s SlAA Aol dRolcouss 32cll
alau?
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

A.
C.

0.50 Hle?
0.050 Hle?

B. 0.075 Hle?
D. 0.75 Hle?

B Ul dsl AR Ad wgd -------

A.  dY. B. UM W.

c. ¥l D. 2wl As ual o8l
BH HlLAHeA asletcatis dy aH yslalell Aol -------

A AL B. dy.

C. WEeQ aal. D. ol Ul
gleALAsLAHL YUslalell A2l B2l slu?

A.  3x10°Hl/Q B. 3x10°{l/Q

c. 3x10°{l/Q c. 3x10®"d{l/A

ol Actitiell 53 Yo ¥AA RuH B?

A. p=sin(i)+sin(r)= AN B. p=sin(r)/sin(i)= AH{JN
C. ps=sin(i) x sin(r)= AAN D. p=sin(i)/sin(r)= AH{JAN
yYslaloll R0letl AUldulllel -------- 58 .

A.  ([Qadet B. clds:0l

c. ydleiast D. asleicst

(Al 58 Yol Yslatall R0 AGlold 290 B AH g2ld &7
A culdsqm B. $SlSAstls uRe(l
c. ydlaast D. URlddsl

Gallcd Gt oltl Slalod Acll URHMIR] WA HASIA & ¥ B -------

A, HRL AU B. Gad ucUl

C. (A)ua (B) ola D. 2l As ugl o8l
He-Ne QuRHL BAan ua ofllote] YHIRL------- ala.

A, 10:1 B. 1:10

C. 1 C. 1:5

R A SSGRUL YUSL2L ---------- dl alld 52 B.

A, calds:Wl B. (Qada

c. (At D. Yl uidRs urladst

Hi slat.

AR sA SITRUL n, Wal n, WefsN 512 al sALell asletcatis &

astell yustate] yaRel ol AstHigdl ------- AR Aol WafARA.
A. n>n, B. n;=n,
C. n,<n, C. 2l As vl o8l

k % 3k K %k K k K k %k %k k k k
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